MAC 2233 Review for Final

For questions 1-4, evaluate each limit:

1.  
[image: image1.wmf]=

®

3

2

5

lim

e

t


2.  
[image: image2.wmf]=

+

-

®

h

x

h

x

x

5

2

3

lim

2

0


3.  
[image: image3.wmf]=

+

-

-

®

3

9

lim

2

4

x

x

x


4.  
[image: image4.wmf]=

+

-

-

¥

-

9

2

5

lim

2

3

2

x

x

x

x

x


For questions 5-9, find each derivative:
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For questions 10-15, evaluate each integral:
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14.  Find an equation of the tangent line to 
[image: image14.wmf])

1

3

ln(

2

+

=

x

y

 at the point 
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15.  The Super-Fit Company determines that the price-demand function for their new treadmill is given by 
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 where p is the unit price, in dollars, of a treadmill and 
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 is the demand in thousands.  Determine 
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 and state whether the manufacturer should raise or lower the price to increase revenue.

16.  The Tesch Company determines that the weekly profit from producing and selling steering wheels for automobiles can be modeled by 
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where x represents the number of steering wheels produced and sold each week and 
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 is the weekly profit, in dollars.  Determine 
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, the marginal profit function.  Evaluate and interpret 
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17.  Determine intervals where the graph of 
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 is concave up and where it is concave down.  Locate any inflection points.

18.  For 
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, find the critical values of the function.  Determine intervals where the function is increasing and decreasing.  Locate the relative extrema.

19.  A closed box is made with a square base and must have a volume of 11.2 in3.  The material for the sides and the top costs $0.05 per in2, and the material for the base costs $0.09 per in2.  Determine the dimensions of the box that minimize the cost of the materials.
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